PLANT ENTERPRISES PRODUCTION						
Сгор	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
*	Tioducers	Tieres	Acit	Tioduction	Wiedsuie	value
FORESTRY						
Pulpwood						
Pine				292,060		
Hardwood				52,146	cords	
Pulpwood (Total)				344,206		
Chip & Saw				15,222	cords	
Saw Timber						
Pine				50,078,929		
Hardwood				, ,	board feet	
Saw Timber (Total)				51,754,455		
Total Pulpwood, Chip & Saw Saw Timber FOB Mill	,					\$48,657,810
Total Forestry Stumpage						\$25,735,109
Forestry Seedlings	*			4,000,000	seedlings (1,000)	\$140,000
Forestry (Total)					· · · ·	\$48,797,810
FRUITS						
Mayhaws						
Orchard	*	1.5	365.00	547	lbs.	\$684
Mayhaws (Total)		1.5				\$684
Fruits (Total)		1.5				\$684
HAY FOR SALE						
Grass	32	2,500.0	1.25	3,125	tons	\$156,250
Hay for Sale (Total)		2,500.0				\$156,250
HOME GARDENS	200	,				\$60,000
SOD PRODUCTION VEGETABLES Collards	*	70.0			acre	\$248,220

PLANT ENTERPRISES PRODUCTION

Page 1 of 4

PLANT ENTERPRISES PRODUCTION						
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Fresh	7	1.0	700.00	700	doz. bunches	\$4,900
Collards (Total)		1.0				\$4,900
Mustard (Fresh)	7	2.0	700.00	1,400	doz. bunches	\$9,800
Snap Beans (Fresh)	10	3.0	200.00	600	bu. (30 lbs.)	\$12,000
Southern Peas (Fresh)	31	55.0	120.00	6,600	bu. (24 lbs.)	\$132,000
Vegetables (Total)		61.0				\$158,700
TOTAL ALL PLANT ENTI	ERPRISES					\$49,421,669

#### FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
FUR ANIMALS HUNTING LEASES	140	140,000 No. Acres Leased	30	pelts acre	\$159 \$420,000
TOTAL ALL FISHERIE	S & WILDLIFE ENTERPR				\$420,159

ANIMAL ENTERPRISES PRODUCTION					
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			195	head	\$70,857
400-500 lbs.			756	head	\$316,012
500-600 lbs.			320	head	\$147,030
Steer Calves (Total)					\$533,899

Page 2 of 4

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Heifer Calves						
300-400 lbs.				202	head	\$64,662
400-500 lbs.				650	head	\$245,027
500-600 lbs.				150	head	\$63,888
Heifer Calves (Total)						\$373,577
Yearling Cattle						
600-700 lbs.				89	head	\$46,280
700-800 lbs.				80	head	\$45,000
Yearling Cattle (Total)						\$91,280
Cow-Calf Pairs				100	pair	\$72,000
Cull Cows				350	head	\$115,579
Cull Bulls				40	head	\$29,220
Cattle & Calves (Total)	135	4,083	No. Cows			\$1,215,556
HORSES						
Brood Mares						
Race Horses	*	20	No. Brood Mares	10	head	\$60,000
Show Horses	*	15	No. Brood Mares	10	head	\$30,000
Recreation Horses	25	100	No. Brood Mares	60	head	\$90,000
Brood Mares (Total)						\$180,000
Stud Fees						
Race Horses	*	2	No. Stallions	20	mares bred	\$50,000
Show Horses		1	No. Stallions	20	mares bred	\$30,000
Recreation Horses		5	No. Stallions	50	mares bred	\$5,000
Stud Fees (Total)						\$85,000
Race Horses	*			25	head	\$250,000
Show Horses	75			300	head	\$1,200,000
Recreation Horses	850			1,900	head	\$1,900,000

Page 3 of 4

ANIMAL ENTERPRISES PRODUCTION					
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Horses (Total)					\$3,615,000
POULTRY					
Broilers	27		80,242,000	lbs.	\$48,947,620
Cull Hens			99,949	lbs.	\$14,992
Breeder Flocks	*	46,226 No. Birds	577,825	doz. hatching	\$219,574
				eggs sold	
Poultry (Total)					\$49,182,186
GOATS					
Slaughter Goats			65	head	\$5,525
Stocker Goats			100	head	\$6,500
Cull Goats			75	head	\$3,150
Goats (Total)	15	125 No. Does			\$15,175
TOTAL ALL ANIMAL H	ENTERPRISES				\$54,027,916
JACKSON PARISH 7	TOTAL				\$103,869,745